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Y. py for8 < pjjt < 11 GeV, R = 0.8, Transverse region

1T T 7T T 17T ‘ T TT ‘ T TT ‘ T TT ‘ T T ‘ T 1

102 EES—;%;E%; Data E
L C——=+ Hw730LO&PS -
07 = F=—Hw 7.3.0 LO & Dipoles|
L = B#=50NLO®PS A
e —+— Hw 7.5688prging =
. - —+— Hw 7.3.0 NEg§EDipole
0= -+ - Hw 7.2.0LO ¢ P$—4—
6 - -+ - Hw 7.2.0 LO@DiI[JU o5
10°°% = —=
E Hw 72,0 NLO®PS| 3

; C —+- Hw 7.2.0 Merging | -

1o g —+ - Hw 7.2.0 NLO & Digole
108 L %
14 =1 T l \é
1.3 - [ —
1.2 =
1.1 =

1 =

0.9 =
0.8 | 1 —=
0.7 | | ! E
8:? I ‘ I I ‘ I ‘ \ \ \ /_‘_H_! | i E

0 5 10 15 20 25

‘6’
agl
<



